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| Chapter 10 Review

Write the product using exponents.
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Evaluate the expression.
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Complete the following:

11) When you multiply powers with the same base, you gdd e ’e')g/om/é

12) When you have exponents inside and outside the parenthesis, you /fﬂ///f/‘/@ %c e’;’//ﬁmff.

13) When you.divide powers with the same base, you $v}75zo/‘ % e’){/ﬂﬂ’rz/f

14) Evaluate: 542,897° :E

Simplify the expression. Write your answer as a power with only positive exponents.
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Simplify the expression.
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Simplify the expression. Write your answer as a power with only positive exponents.
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Tell whether the number is written in scientific notation. Explain. If not, please change it; so, that it is so.
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Write the number in standard form.
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Write the number in scientific notation.
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Order the numbers from least to greatest.
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61) 6.5x10™, 52 %1073, 8.1x107°

8./ x1075 6.5 x0™ 5.2 4703

Evaluate the expression. Write your answer in scientific notation.

62) (8.3 X 106) = (4.6 X 106)
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66) (1.2 x 107) x (4 x 10%) 67) (8 x107) + (4 x 10°)

68) (9 X 10—4) + (3 X 10-2) 69) (1.1 X 108) x (4 x 107)
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